Stud. Univ. Babeş-Bolyai Math. 57(2012), No. 3, 317-323

# Some extensions on Fan Ky's inequality

Gao Mingzhe and Mihaly Bencze

**Abstract.** In this paper we study the inequalities of the determinants of the positive definite matrices and the invertible matrices by applying the integral method and matrix theory such that extensions of Fan Ky's inequality are established. And then an improvement of Fan Ky's inequality is given by using the positive definiteness of Gram matrix.

Mathematics Subject Classification (2010): 15A15, 26D15.

**Keywords:** Fan Ky's inequality, Gram matrix, positive definite matrix, invertible matrix, characteristic root.

#### 1. Introduction

In view of the importance of the inequality in theory and applications (see [1], [2]), it has been absorbing much interest of mathematicians. The various ways of proving inequalities appear in a great deal of papers. In particular, Kuang enumerated more than 50 methods in the paper [3]. It is obvious that these methods have the characteristic of themselves, technique, theory and applications. The purpose of the present paper is to study the discrete inequalities by applying a thought way on the proof of the inequality of the continuous function, and to try for a new path and to play to throw out a minnow to catch whale role in research and development. Explicitly, the extensions and improvement on the famous Fan Ky inequality are established by applying this method.

For convenience, we introduce some notations and functions.

The determinant of matrix X of order n is denoted by |X| and a unit-matrix of order n is denoted by I. Let  $x = (x_1, x_1, \dots, x_n)$  be an n-dimension vector, f(x) and g(x) be functions with n variables. Let E be an inner product space, f and g be elements of E. Then the inner product of f and g is defined by the following n-ple integral:

$$(f, g) = \int_{-\infty}^{+\infty} \cdots \int_{-\infty}^{+\infty} f(x)g(x) \mathrm{d}x,$$

where  $dx = dx_1 dx_2 \cdots dx_n$ . And the norm of f is given by  $||f|| = \sqrt{(f, f)}$ .

Let f(x), g(x) > 0 and r, s > 0. We stipulate that

$$(f^{r}, g^{s}) = \int_{-\infty}^{+\infty} \cdots \int_{-\infty}^{+\infty} f^{r}(x) g^{s}(x) \mathrm{d}x, \quad \|f\|_{r} = \left(\int_{-\infty}^{+\infty} \cdots \int_{-\infty}^{+\infty} f^{r}(x) \mathrm{d}x\right)^{\frac{1}{r}}, \quad \|f\|_{2} = \|f\|_{2}$$
$$S_{r}(f, h) = \left(f^{\frac{r}{2}}, h\right) \|f\|_{r}^{-\frac{1}{r}}.$$

where h is a variable unit-vector with n variables, i.e. ||h|| = 1, and it can be chosen in accordance with our requirements. In particular,  $S_r(f,h) = 0$  if h is orthogonal to  $f^{\frac{r}{2}}$ .

Throughout this paper, we shall frequently use these notations.

### 2. Statement of main results

Let A, B be two positive definite matrices of order  $n, 0 \le \lambda \le 1$ . Then

$$|A|^{\lambda}|B|^{1-\lambda} \le |\lambda A + (1-\lambda)B|.$$

$$(2.1)$$

This is the famous Fan Fy's inequality (see [3]). Recently, this inequality has been studied in some papers (such as [4, 5] etc.) Below we will build some extensions and a refinement of (2.1) by using the integral method and matrix theory.

First, we establish some extensions of (2.1).

**Theorem 2.1.** Let *m* be a positive integer greater than 1,  $A_i(i = 1, 2, \dots, m)$  be positive definite matrix of order n,  $\sum_{i=1}^{m} \frac{1}{p_i} = 1$  and  $p_i > 1$ . Then

$$\prod_{i=1}^{m} |A_i|^{\frac{1}{p_i}} \le \left| \sum_{i=1}^{m} \frac{1}{p_i} A_i \right|.$$
(2.2)

In particular, for case m = 2, we have

$$|A|^{\frac{1}{p}} |B|^{\frac{1}{q}} \le \left| \frac{1}{p}A + \frac{1}{q}B \right|,$$

where  $\frac{1}{p} + \frac{1}{q} = 1$  and p > 1. Clearly, it is the inequality (2.1). It follows that the inequality (2.2) is an extension of (2.1).

**Remark 2.2.** Inequality (2.1) shows that the function  $f : PD \to (0, \infty)$  defined by f(A) = |A|, where PD is the set of positive defined matrices of order *n* is log-concave. So, Theorem 2.1 is Jensen 's inequality for *f*.

If p < 1, applying the reverse Hölder inequality, then the following reverse Fan Ky inequality is obtained:

$$|A|^{\frac{1}{p}}|B|^{\frac{1}{q}} > |\frac{1}{p}A + \frac{1}{q}B|.$$

If  $A_i$   $(i = 1, 2, \dots, m)$  is invertible matrix of order n and  $A'_i$  is a transform of  $A_i$ , then  $A_iA'_i$  is a positive definite matrix of order n and  $|A_iA'_i| = |A_i|^2$ . Based on Theorem 2.1, the following result is obtained.

**Corollary 2.3.** If  $A_i (i = 1, 2, \dots, m)$  is a invertible matrix of order n, then

$$\prod_{i=1}^{m} |A_i^2|^{\frac{1}{p_i}} \le \left| \sum_{i=1}^{m} \frac{1}{p_i} A_i A_i' \right|.$$
(2.3)

Let  $A_i(i = 1, 2, \dots, m)$  is a symmetrical matrix of order n. Then there exists a sufficiently big  $k_i$  such that  $k_iI + A_i$  is a positive definite matrix. Let  $k = \max\{k_1, k_2, \dots, k_m\}$ . Then we have the following result.

Corollary 2.4. With the assumptions as the above-mentioned, then

$$\prod_{i=1}^{m} |kI + A_i|^{\frac{1}{p_i}} \le \left| \sum_{i=1}^{m} \frac{1}{p_i} (kI + A_i) \right|.$$
(2.4)

Next, we shall establish a refinement of (2.1).

**Theorem 2.5.** Let A, B be two positive definite matrices of order n. If  $\frac{1}{p} + \frac{1}{q} = 1$  and p > 1, then

$$|A|^{\frac{1}{p}}|B|^{\frac{1}{q}} \leq \left|\frac{1}{p}A + \frac{1}{q}B\right| (1-R)^{\frac{2}{r}}, \qquad (2.5)$$

where

$$R = (4\pi)^{\frac{n}{2}} \left( \left( \frac{|A|^{\frac{1}{2}}}{|A + \pi I|} \right)^{\frac{1}{2}} - \left( \frac{|B|^{\frac{1}{2}}}{|B + \pi I|} \right)^{\frac{1}{2}} \right)^{2}, \quad r = \max\{p, q\}.$$

Remark 2.6. In fact, Theorem 2.5 establishes a refinement of Fan Ky inequality.

If A and B are two invertible matrices of order n, A' and B' are respectively transforms of A and B, then AA' and BB' are positive definite matrices of order n. And notice that  $|AA'| = |A|^2$  and  $|BB'| = |B|^2$ . Based on Theorem 2.5, the following result is obtained.

**Corollary 2.7.** With the assumptions as the above-mentioned, then

$$|A|^{\frac{1}{p}}|B|^{\frac{1}{q}} \leq \left|\frac{1}{p}AA' + \frac{1}{q}BB'\right|^{\frac{1}{2}} \left(1 - \tilde{R}\right)^{\frac{1}{r}},$$
(2.6)

where

$$\tilde{R} = (4\pi)^{\frac{n}{2}} \left( \left( \frac{|A|}{|AA' + \pi I|} \right)^{\frac{1}{2}} - \left( \frac{|B|}{|BB' + \pi I|} \right)^{\frac{1}{2}} \right)^{2}, \quad r = \max\{p, q\}$$

## 3. Proofs of main results

In order to apply the integral method and matrix theory to prove our assertions, we need the following lemmas.

**Lemma 3.1.** Let D be a positive definite matrix of order n. Then

$$\int_{-\infty}^{+\infty} \cdots \int_{-\infty}^{+\infty} \exp\left(-xDx'\right) \mathrm{dx} = \left(\frac{\pi^n}{|D|}\right)^{\frac{1}{2}},\tag{3.1}$$

where the vector  $x = (x_1, x_2, \dots, x_n), x'$  is transform of x and  $dx = dx_1 dx_2 \cdots dx_n$ . This result is the well known. Its proof is omitted here.

**Lemma 3.2.** Let  $\frac{1}{p} + \frac{1}{q} = 1$  and p > 1. If  $0 < ||f||_p < +\infty$  and  $0 < ||g||_q < +\infty$ , then

$$(f, g) \le ||f||_p ||g||_q (1-R)^{\frac{1}{r}},$$
(3.2)

where  $R = (S_p(f,h) - S_q(g,h))^2$ ,  $r = \max\{p, q\}$ , ||h|| = 1 and  $(f^{p/2},h)(g^{q/2},h) \ge 0$ . And the equality in (3.2) holds if and only if  $f^{p/2}$  and  $g^{q/2}$  are linearly dependent;

or h is a linear combination of  $f^{p/2}$  and  $g^{q/2}$ , and  $(f^{\frac{p}{2}},h)(g^{\frac{q}{2}},h) = 0$  but h is not simultaneously orthogonal to  $f^{\frac{p}{2}}$  and  $g^{\frac{q}{2}}$ .

*Proof.* First, we consider the case p = 2. Let f, g and h be three arbitrary functions with n variables. If ||h|| = 1, then

$$(f, g)^{2} \leq ||f||^{2} ||g||^{2} - (||f||u - ||g||v)^{2},$$
(3.3)

where u = (g, h), v = (f, h),  $uv \ge 0$ . And the equality in (3.3) holds if and only if f, g and h are linearly dependent; or h is a linear combination of f and g, and uv = 0 but h is not simultaneously orthogonal to f and g. In fact, consider the Gram determinant constructed by the functions f, g and h:

$$G(f,g,h) = \left| \begin{array}{ccc} (f,f) & (f,g) & (f,h) \\ (g,f) & (g,g) & (g,h) \\ (h,f) & (h,g) & (h,h) \end{array} \right|.$$

According to the positive definiteness of the Gram matrix, we have  $G(f, g, h) \ge 0$ , and G(f, g, h) = 0 if and only if f, g and h are linearly dependent.

Expanding this determinant and using the condition ||h|| = 1, we obtain

$$\begin{aligned} G(f,g,h) &= \|f\|^2 \|g\|^2 - (f,g)^2 - \{\|f\|^2 u^2 - 2(f,g))uv + \|g\|^2 v^2 \} \\ &\leq \|f\|^2 \|g\|^2 - (f,g)^2 - \{\|f\|^2 u^2 - 2(f,g))|uv| + \|g\|^2 v^2 \} \\ &\leq \|f\|^2 \|g\|^2 - (f,g)^2 - (\|f\||u| - \|g\||v|)^2 \\ &\leq \|f\|^2 \|g\|^2 - (f,g)^2 - (\|f\||u - \|g\||v|)^2 \end{aligned}$$

where u = (g, h), v = (f, h) and  $uv \ge 0$ . And the equality holds if and only if f, g and h are linearly dependent; or h is a linear combination of f and g, and uv = 0 but h is not simultaneously orthogonal to f and g.

The inequality (3.3) can be written in the following form:

$$(f,g)^{2} \leq ||f||^{2} ||g||^{2} (1-r_{2}), \qquad (3.4)$$

where  $r_2 = (S_2(f,h) - S_2(g,h))^2$ . Namely, when p = 2, the inequality (3.2) is valid. It is obvious that the inequality (3.4) is a refinement of the Cauchy inequality and that it is also extensions of the corresponding results of the papers [3, 6, 7]. Next, consider the case  $p \neq 2$ . Not loss generality, let p > q > 1. Since  $\frac{1}{p} + \frac{1}{q} = 1$ , we have p > 2. Let  $\alpha = \frac{p}{2}, \beta = \frac{p}{p-2}$ . Then  $\frac{1}{\alpha} + \frac{1}{\beta} = 1$ . By applying Hölder's inequality, we have

$$(f,g) = \int_{-\infty}^{+\infty} \cdots \int_{-\infty}^{+\infty} f(x)g(x)dx = \int_{-\infty}^{+\infty} \cdots \int_{-\infty}^{+\infty} \left\{ f(x)(g(x))^{q/p} \right\} (g(x))^{1-q/p} dx$$
  
$$\leq \left\{ \int_{-\infty}^{+\infty} \cdots \int_{-\infty}^{+\infty} \left( f(x)(g(x))^{q/p} \right)^{\alpha} dx \right\}^{1/\alpha} \left\{ \int_{-\infty}^{+\infty} \cdots \int_{-\infty}^{+\infty} \left\{ (g(x))^{1-q/p} \right\}^{\beta} dx \right\}^{1/\beta}$$
  
$$= \left( f^{p/2}, g^{q/2} \right)^{2/p} \|g\|_{q}^{q(1-2/p)}.$$
(3.5)

And the equality in (3.5) holds if and only if  $f^{p/2}$  and  $g^{q/2}$  are linearly dependent. In fact, The equality in (3.5) holds if and only if for any a positive integer k, there exists a positive number  $c_1$ , such that  $(fg^{q/p})^{\alpha} = c_1(g^{1-q/p})^{\beta}$ . After simplifications, we obtain  $f^{p/2} = c_1g^{q/2}$ .

If f and g in (3.4) are replaced by  $f^{\frac{p}{2}}$  and  $g^{\frac{q}{2}}$  respectively, then we have

$$(f^{p/2}, g^{q/2})^2 \le \|f\|_p^p \|g\|_q^q (1-R),$$
(3.6)

where  $R = (S_p(f, h) - S_q(g, h))^2$ . Substituting (3.6) into (3.5), we obtain after simplifications

$$(f,g) \le ||f||_p ||g||_q (1-R)^{\frac{1}{p}}.$$
 (3.7)

It is known from (3.4) that the equality in (3.7) holds if and only if  $f^{p/2}$  and  $g^{q/2}$  are linearly dependent; or h is a linear combination of  $f^{p/2}$  and  $g^{q/2}$ , and  $(f^{\frac{p}{2}}, h)(g^{\frac{q}{2}}, h) = 0$  but h is not simultaneously orthogonal to  $f^{\frac{p}{2}}$  and  $g^{\frac{q}{2}}$ . Notice that the symmetry of p and q, it follows that the inequality (3.2) is valid.

It is very easy to prove Theorem 2.1, it is omitted here.

Proof of Theorem 2.5. Let  $f(x) = \exp(-\frac{1}{p}(xAx'))$  and  $g(x) = \exp(-\frac{1}{q}(xBx'))$ , where  $\frac{1}{p} + \frac{1}{q} = 1$  and p > 1. Based on (3.2) and (3.1), we have

$$\frac{\pi^{\frac{n}{2}}}{\left|\frac{1}{p}A + \frac{1}{q}B\right|^{\frac{1}{2}}} = \int_{-\infty}^{+\infty} \cdots \int_{-\infty}^{+\infty} f(x)g(x)dx$$

$$\leq \left\{\int_{-\infty}^{+\infty} \cdots \int_{-\infty}^{+\infty} f^{p}(x)dx\right\}^{\frac{1}{p}} \left\{\int_{-\infty}^{+\infty} \cdots \int_{-\infty}^{+\infty} g^{q}(x)dx\right\}^{\frac{1}{q}} (1-R)^{\frac{1}{r}}$$

$$= \frac{\pi^{\frac{n}{2}}}{\left(|A|^{\frac{1}{p}}|B|^{\frac{1}{q}}\right)^{\frac{1}{2}}} (1-R)^{\frac{1}{r}}.$$
(3.8)

We attain from (3.8) after simplifications

$$|A|^{\frac{1}{p}}|B|^{\frac{1}{q}} \le |\frac{1}{p}A| + \frac{1}{q}B|(1-R)^{\frac{1}{r}}$$
(3.9)

where  $r = \max\{p, q\}$ .

We only need to compute R in (3.9). It is known from (3.2) that

$$R = (S_p(f, h) - S_q(g, h))^2 = \left(\frac{(f^{p/2}, h)}{\|f\|_p^{p/2}} - \frac{(g^{q/2}, h)}{\|g\|_q^{q/2}}\right)^2,$$

where  $h = \exp\left(-\frac{1}{2}xCx'\right)$ , Let  $C = \pi I$ . Then  $|C| = \pi^n$ , Based on (3.1), we have

$$||h|| = \left\{ \int_{-\infty}^{+\infty} \cdots \int_{-\infty}^{+\infty} h^2(x) dx \right\}^{1/2} = 1.$$
 (3.10)

It is easy to deduce that

$$\begin{pmatrix} f^{\frac{p}{2}}, h \end{pmatrix} = \int_{-\infty}^{+\infty} \cdots \int_{-\infty}^{+\infty} f^{\frac{p}{2}}(x)h(x) \, \mathrm{d}x$$

$$= \frac{\pi^{\frac{n}{2}}}{\left|\frac{1}{2} (A + \pi I)\right|^{\frac{n}{2}}} = (2\pi)^{\frac{n}{2}} \left(\frac{1}{|A + \pi I|}\right)^{\frac{1}{2}},$$

$$\|f\|_{p}^{\frac{p}{2}} = \left\{\int_{-\infty}^{+\infty} \cdots \int_{-\infty}^{+\infty} f^{p}(x) \, \mathrm{d}x\right\}^{\frac{1}{2}} = \left\{\frac{\pi^{n}}{|A|}\right\}^{\frac{1}{4}},$$

$$S_{p}(f, h) = \left(f^{\frac{p}{2}}, h\right) \|f\|_{p}^{-\frac{1}{p}} = (2\pi)^{\frac{n}{2}} \left(\frac{1}{|A + \pi I|}\right)^{\frac{1}{2}} \left\{\frac{|A|}{\pi^{n}}\right\}^{\frac{1}{4}}$$

$$= (4\pi)^{\frac{n}{4}} \left(\frac{|A|^{\frac{1}{2}}}{|A + \pi I|}\right)^{\frac{1}{2}}.$$

Similarly, we have  $S_q(g, h) = (4\pi)^{\frac{n}{4}} \left(\frac{|B|^{\frac{1}{2}}}{|B + \pi I|}\right)^{\frac{1}{2}}$ . It follows that

$$R = (S_p(f,h) - S_q(g,h))^2$$
$$= (4\pi)^{\frac{n}{2}} \left( \left( \frac{|A|^{\frac{1}{2}}}{|A + \pi I|} \right)^{\frac{1}{2}} - \left( \frac{|B|^{\frac{1}{2}}}{|B + \pi I|} \right)^{\frac{1}{2}} \right)^2.$$

Acknowledgements. Authors would like to express their thanks to the referees for valuable comments and suggestions.

## References

- [1] Hardy, G.H., Littlewood, J.E., Polya G., Inequalities. Cambridge Univ. Press, 1952.
- [2] Mitrinovic, J.E., Pecaric, J.E., Fink, A.M., Inequalities Involving Functions and Their Integrals and Derivatives, Kluwer Academic Publishers, Boston, 1991.

- [3] Kuang, J.C., Applied Inequalities, 3nd. ed. Shandong Science and Technology Press, 2004. 445.
- [4] Hu, K., On an Inequality and Its Applications, Science in China, 1981, 141-148.
- [5] Hu, K., Foundations, Improvements And Applications On Basic Inequalities, Jiangxi University Press, 1998.
- [6] Gao, M.Z., Tan, L., Debnath, L., Some Improvements on Hilbert's Integral Inequality, J. Math. Anal. Appl., 229(1999), no. 2, 682-689.
- [7] He, T.X., Peter, J.S., Li, Z.K., Analysis, Combinatorics and Computing, Nova Science Publishers, Inc. New York, 2002, 197-204.

Gao Mingzhe Department of Mathematics and Computer Science Normal College of Jishou University Jishou, Hunan, 416000, P. R. China e-mail: mingzhegao@163.com

Mihaly Bencze Str. Harmanului 6, 505600 Sacele-Negyfalu Jud. Brasov, Romania e-mail: benczemihaly@yahoo.com